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StSp(P,K), RandSM(N)

> #Problem 2

> #The growth constants agree
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#Anusha Nagar, 9.27.2021, Homework 6

read "C:/Users/an646/Documents/M5.txt" :
read "C:/Users/an646/Documents/M7.txt" :

> GrowthCe([0.1, 1.14, 0.82935, 0.0829351])

1.385732629

> LeslieMat([0.95,0.97,0.9], [0.1,1.2,0.9,0.1])
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| > #Problem 3
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RecToSeq(INILLREC,N), GrowthC(INLLREC,K) , GrowthCe(REC)
LeslieMod(SUR,FER): e.g. LeslieMod([9/10,9/10],[0,1,1]);
LeslieMat(SUR,FER), e.g. LeslieMat([9/10,9/10],[0,1,1]),

GR(p,i,N), GRt(p,i,N), GRm(N,p), OneStepMarkov(P,i), MarkovTrip(P,K), StSa(P,K), StS(P),

> FEigenvalues(Matrix([[0.1,1.2,0.9,0.1], [0.95,0,0,01, [0,0.97,0,01], [0,0,0.9,011))[1];
1.38573262885364 4+ 0. 1
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| > #0.315 stay at S1, 0.2627 stay at §2, 0.225 stay at S3, and 0.1970 stay at S4
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#AIl rows are identical
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| > #Page Rank: S1, S2, S3, §4 in terms of popularity
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